=R

T RIEEHR2017

39
20174 &ZEREt 1000 ERREBER, ERBEERERDER
A0 713,688 A (£E)
HEFRPISNEA 5 % 5.3% (9.1%)
FEFRPR— AL X#RERB D 0 % 0.0% (0.9%)
FrER30-59m B P EMN DAR 0 % 0.0% (7.3%) p—
MERRER
PRI () 13 | '14 | '15 | '16 | '17
HEIRE 109 | 112 108 92 94 | 100 -
AO10733% 146 152 148 129 13.2| m
BRI IIB IR RIS 2 56, 49 36 39 38| H S
A0 75 66 49 55 53| B e
BT ARMIE 10 18 9 26 11| o \
ACI1053ER 13 24 12 36| 15|
10
A IBREDM - FHHT, 20174 %
16
14
12 (19984 LAR%)
10 o3 e
8 icfeg
6
4 1 T o e A v v
2 1962 70 75 80 90 2000 10 2017
0
~19% 20ft 30ft 40ft s0ft 60ft 70ft 80K 90k~ RS OR R BRI TPPZAE N X J4RI S 2 S
100 % (LEmL - FBR <)
FERHERIBEEPREDEN 3 NAN RIS = we=os0 ~3-59.2 — 556
5% (IBERABARR < 1) 80 | =844 =@ 85.0 : :
40 60
30 29.7 40
20 X% \\F ’;: e 20
10 10.8 : '13 '14 '15 '16 '17
40-. —f 9.8 . > 2.7 |
0 : : R HIE B RS ORI PR E &
'13 '14 '15 '16 '17 a2y FifE R iR A BTHAR o fiE
SREARERR
% e (eSO 300 - o !
100
— 978 g 55 m — 241
% m 89.9 —8-955—9 925 200 |— %205 -2 — 2 R
— %X
80 TN
70 100
& 53 == 53— 50 ek 3, =g 49
60 0 ‘ ‘ e
50 '12 '13 '14 '15 2016
'13 '14 '15 '16 '17
BIEERIESR BRSO A RS DAEMRIE
100% 9
% TR SRR T IR S iy 11+ 3
100 = = = . = R : o 9
85.1 === 88.1 — X 4
25 * — = 82.2 —@= 823 — 76.1 : 7%
29
50 75% 2
25 28
0 24 2
'13 '14 '15 '16 '17 50% | | |
% RIS ER P ERRZEERANESE 69
100 - - - = = 64
86.6 === 86.0 57
75 / BV — 77.4 —X 25% || | 48 s 50 — =
50 // \ 50.0
25 ( 29.0
(£E)
0 0%
n=6,291 46 51 44 32 36
'13 ‘14 '15 '16 '17
o - 2016 2012 2013 2014 2015 2016
—— SR = RRIEM —>— 2 ORY @RE 0% mTEH ok 01288 QR
'13 '14 '15 '16 '17 '13 '14 '15 '16 '17
t REOENIBHRABE(%) 51.3 453 393 250  46.3  {LIREE - RBA(%) 2.2 1.6 0.0 0.0 43



	output

